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Homework 8



1) Using a 8 bit A/D with an 8 bit register, VrefH = 3.1 V, VrefL = 0 V 50pts

fill in the table below

Input Output D/A

Voltage Code Output

(absolute) Voltage

HEX

0.013 1 0.012

0.45 25 0.448

0.78 40 0.775

1.3 6B 1.296

1.82 96 1.816

2.25 B9 2.240

2.75 E3 2.749

3 F7 2.991

3.05 FB 3.039

4 FF 3.088

4.5 FF 3.088



2) Below is a simplified schematic for a 3 bit Flash ADC. Determine how this ADC 

operates and provide voltages for each node given the voltages below 50pts

VREF: 3.3 V VIN: 1.5 V

voltage logic level

A 2.888 V H 0

B 2.475 V I 0 logic level

C 2.063 V J 0 O 0

D 1.65 V K 0 P 1

E 1.238 V L 1 Q 1

F 0.825 V M 1

G 0.413 V N 1


